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Evaluate the magnitude of the electrostatic force exchanged between the two charges
g, = + 30uC and g; = — 40 x 107°C separated by a distance of 6.0 cm.

(Use k = 9 x 10"~ 1.0 u = 1.0 X 107%)
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A neutral sphere, made of insulating material, s placed in an external elect
the figure. The net slectrical fux passing th h the surface of the sphere
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The electron will move to the right
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One way to charge a neutral metallic object with a positive charge is to do one of the

following; —_ PO I 1 Tag : T —
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Add some electrons
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Add some neutral atoms
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Cut out a part of the object




wWhich of the lfollowing stalements represents G

Ebectric flux through a closed surfacs sroportional to the charge inside the surface
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A proton ks placed in the uniform electric fi gnitude E = 0.6 V/m. Find the &

of the protan (in myfs’). Hint: Proton mass is 1.8 = kg and proton charge is
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What is the unit of measuring the linesr charge density [4) on a thin long rod?
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Metals are good conductors of alectricity.
B30 &k tll RS .;.1.1..-.-.1‘.‘ P | }.‘: '. 1
Insulators have low electrical resistance.
ailie agls S A gia Ll J 3 gt
Silicon and germanium are examples of superconductors.
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Electrical resistance of superconductors is zero at room temperature,
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Which of the following statements represent

gl Bl A AT i ld)

Electric flux through a closed surface is proportional to the charge inside the surface
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Electric charge is uniformly distributed on the surface of a charged conductor.

U patiadl S gt mlacd | e Gl A @S Slla ]l B G0

Electric field inside a conductor Is always zero
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The surface of any conductor is an & otential surface
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Evaluate the magnitude of the electrostatic force exchanged between the two charges
g, = + 30uC and g, = — 40 x 107°C separated by a distance of 6.0 cm.

(Usek =9 x 10° =3, 1.0 u = 1.0 X 107%)
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Metals are good conductors of electricity.
PAPRPLA| BTSSP 1 e
Insulators have low electrical resistance.
i 40 54S A ke L 1)
Silicon and germanium are examples of superconductors.
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Electrical resistance of superconductors is zero at room temperature.
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Consider two point charges q; = +4.0pu(

and q; = —8.0uC, scparated by a distance of 4.1
Find the magnitude of the

ectric feld (in NC) midway between the two point charges
(Use k < 10" =, 1.0 u = 1.0 x 107%)
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A proton is placed in the uniform electric field of magnitude E = 0.6 V/m. Find the acceleration
of the proton (in m/s?). Hint: Proton mass is 1.6 x 10 %'kg and proton charge is 1.6 x 10-" C.
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The electric potential in some region is given by V(x, y) = 2x* — 3y. Find the
x - component of the electric field associated with this potential at point {1,2) in space.
Note: 5l units are used in this problem.
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You may use any of the given equations where needed.
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A negative electric charge of g = —40u( is placed on the y —axis at point y = 2. 0 m.
Find the electric potential at y = 5.0 m. (Use k = 9 x 10° "’C—';‘a 1.0 = 1.0 X 1079),
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electric field between the two spherical shells at distance r from the center.
Hint: surface area ofa sphere = 4mr2.
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You may use any of the given equations where needed.
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iillgaall ctng
What is the unit of measuring the linear charge density (1) on a thin long rod?
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Evaluate the magnitude of the electrostatic force exchanged between the two charges
g, = + 30uC and g, = — 40 x 107°C separated by a distance of 6.0 cm.
2
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An electron is placed in a uniform electric field E as shown in the figure. The electron is
released from rest. Which of the following statements describes the subsequent motion of
the electron?
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The electron will move to the left
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The electron will move to the right
Osatll g 0 S o e
The electron will not move
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Given information is not enough to predict the electron motion

Os AN 28 3T LS i Slmeall il glal

W Response



ic Mield between the two spherical shells at distance r from the ¢
surface area of a sphere = 4nr?.
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You may use any of the given equations where needed.
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